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15  15π P2 for process to find size of the angle  
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or for working with proportion  
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(P1 for a first step eg 
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   P1 (dep on P2) for process to find the area 

eg 2"150"
6

360
   or 25

6
12





   

 

 

   A1 cao 

 
 

16  Shown M1 
for 

1+n

n
or 

n

n 1−
 

 

 

   
A1 (dep) for 

1+n

n
× 

n

n 1−
 oe = 

1

1

+

−

n

n
 

 

Do not award A1 if errors seen 
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 where k is an integer not equal to 0 

 

 

 (b) 53  M1 for writing 80 as 16 5  or 16 5  or 4 5  

 

 

   A1 for 53 or 45  

 

 




